		Name:___________________________
SE2811 Quiz 6       Name:     
1. Suppose you initially have a single concrete plain ColoredEgg class, shown below. You decide to apply the Decorator pattern to spruce things up: you want to decorate the ColoredEgg’s with SpottedEgg and StripedEgg decorators. Each decorator also has a color attribute (set via it’s constructor) such that you might have a blue egg with white spots and orange stripes.
In the space below, complete the class diagram showing the essential relationships between all classes and interfaces needed to implement the pattern. Introduce any new classes, abstract classes, or interfaces as appropriate. Add stereotypes to the classes (e.g. <<concrete decorator>>). Note: you may move the color attribute out of ColoredEgg if you think that is appropriate.
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2. Write the Java code (that would appear in a client application using the egg classes from problem 1) that creates the following types of eggs. Program to interfaces as appropriate.
a. A green egg.
b. A blue-striped yellow egg.
c. [bookmark: _GoBack]An orange-spotted blue egg.
d. A blue-striped, yellow-spotted white egg.
e. A double-spotted (blue and green), yellow-striped orange egg.
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SE1011 In - Class Exercise   1.   Will the code compile?  If so, write  “yes.”  If not, fix it.   a.   long l = 1000000000 000000 ;   b.   int x = 10.0;   c.   float f = 11.5;   d.   long l = 10L;   e.   long l = 10;   f.   String s = ‘S’;   g.   double d = 5.0;   h.   char c = ‘C’;     2.   What do the following expressions  produce?   a.   5.0/2.0   b.   5.0/2   c.   5/2   d.   5.0+7.0/2.0   e.   1.0+5/2   f.   11+3.0   g.   (double)5/2   h.   8.0 - 4.0+3   i.   (int)5.0/2.0+3   3.   What do the following expressions  produce?   a.   4%2   b.   5%2+1   c.   7%3   d.   63%10   e.   (1345%100)%10   f.   25/( (7 - 4)*2 )
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2. Will the code compile?  If so, write “yes.”  If not, fix it.

a. long l = 1000000000000000;

b. int x = 10.0;

c. float f = 11.5;

d. long l = 10L;

e. long l = 10;

f. String s = ‘S’;

g. double d = 5.0;

h. char c = ‘C’;



3. What do the following expressions produce?

a. 5.0/2.0

b. 5.0/2

c. 5/2

d. 5.0+7.0/2.0

e. 1.0+5/2

f. 11+3.0

g. (double)5/2

h. 8.0-4.0+3

i. (int)5.0/2.0+3

4. 
What do the following expressions produce?

a. 4%2

b. 5%2+1

c. 7%3

d. 63%10

e. (1345%100)%10

f. [bookmark: _GoBack]25/((7-4)*2)




